12. Recommendations of the Superintendent of Schools

(at this time the Board will take formal action on the following items)

A. PERSONNEL

1. Coaches - MEA Sidebar

Move to approve a sidebar agreement with the MEA regarding Coaches.

2. Coaches - Metuchen High School 2020-2021

Move to approve the following Metuchen High School coaches for the Fall 2020, Winter 2020-21 and Spring 2021 school sports seasons as shown on the attached list. 25% of stipend paid 9/30/20 (upon verified summer work); and the 75% balance paid in 2 equal parts (mid-season and end of season) if the season happens.

3. Summer Work - Guidance Department Metuchen High School

Move to approve the following school counselors for summer work in June at Metuchen High School:

| Counselor | # Days in June | Per Diem Rate* |
|------------------|----------------|----------------|
| Leigh Hanbridge | 2 | \$462.94/day |
| Elizabeth DeMott | 2 | \$384.06/day |
| Traci Grauer | 2 | \$518.03/day |

4. Summer Work - District Safety Coordinator

Move to approve William Ortman, District Safety Coordinator, for summer work, district wide:

| District Safety Coordinator | # Days | Rate* |
|-----------------------------|--------|-------------------|
| William Ortman | 10 | \$324.32 per diem |

5. Retirement - Certificated Staff

Move to accept with regret the retirement of Donna Huntress, Campbell School Teacher, effective June 30, 2020.

6. Resignation – Administrator

Move to accept the resignation of Kevin McPeek, Edgar Middle School Principal, effective September 13, 2020 or when a replacement is found.

7. Rescission Appointment - Certificated Staff

Move to rescind the appointment of Kate O'Leary as Moss School .5 Special Education PreSchool/Kindergarten Teacher, effective September 1, 2020 (Agenda 6/23/20 Sec 12 A27).

* Amount may change based upon settlement of contract

8. Home Program - ABA Services

Move to approve the following staff to provide home based ABA programming and training at a rate of \$45/hour* as needed, for the 2020-2021 school year:

| Katherine McKenna | Danielle Mauro | Megan Stevens | Francine Galassa |
|-------------------|--------------------|---------------------|------------------|
| Kathy Rice | Cynthia Linkenheld | Jennifer List | Karen Calantoni |
| Alissa Trapanese | Susan Whitlock | Karla Riera | Daniel Rosa |
| Kelly Wales | Christine | Deneane | Christine Theiss |
| | Cuthbertson | Bonassisa | |
| Lisa Granados | Emily Peluso | Isabelle Filiciello | Amy Piekarski |
| Eric Stein | | | |

9. Extended School Year Special Services Staff - Certified Staff

Move to approve the following as staff for the 2020 Extended School Year Program:

Certified Staff

| | | | | # of | |
|------------------|--------------------|--------|-------|-------|-------|
| Name | Program | Hourly | Rate* | hours | Total |
| | Individualized ESY | | | | |
| Jaclyn Reisman | programs | \$ | 45.00 | TBD | TBD |
| | Individualized ESY | | | | |
| Kathy Zaleck | programs | \$ | 45.00 | TBD | TBD |
| | Individualized ESY | | | | |
| Julie Hertzog | programs | \$ | 45.00 | TBD | TBD |
| | Individualized ESY | | | | |
| Lauren Korelis | programs | \$ | 45.00 | TBD | TBD |
| | Individualized ESY | | | | |
| Schuyler Fannell | programs | \$ | 45.00 | TBD | TBD |
| | Individualized ESY | | | | |
| Bob Ulmer | programs | \$ | 45.00 | TBD | TBD |
| | Individualized ESY | | | | |
| Megan Stevens | programs | \$ | 45.00 | TBD | TBD |

| | | | # of | |
|---------------------|--------------------|--------------|-------|-------|
| Name | Program | Hourly Rate* | hours | Total |
| Emily Peluso | ESY speech therapy | \$56.92 | TBD | TBD |
| Isabelle Filiciello | ESY speech therapy | \$49.59 | TBD | TBD |
| Eric Stein | ESY speech therapy | \$67.61 | TBD | TBD |
| Amy Piekarski | ESY speech therapy | \$67.61 | TBD | TBD |
| Nga Pham | School Nurse | \$48.26 | TBD | TBD |

10. Extended School Year Special Services Staff - Rescission and Approval

Move to approve the following adjustments for Emily Peluso and Amy Piekarski for ESY speech therapy and evaluations, Extended School Year (Agenda 06/23/20, Sec 12 A16)

| Name | Program | Per Diem* | # of Days | Total* |
|---------------|-------------------|-----------|-----------|------------|
| Rescind: | ESY speech | | | |
| Emily Peluso | therapy and evals | \$341.49 | 23 | \$7,854.27 |
| | ESY speech | | | |
| Amy Piekarski | therapy and evals | \$405.63 | 15 | \$6,084.45 |
| Approve: | ESY speech | | | |
| Emily Peluso | therapy and evals | \$341.49 | 28 | \$9,561.72 |
| | ESY speech | | | |
| Amy Piekarski | therapy and evals | \$405.63 | 18 | \$7,301.34 |

11. Summer Intervention Program Coordinators - Rescission and Approval

Move to approve the following adjustments for David Fitzgibbon and Emily Presuto as the 2020 Summer Intervention Program Coordinators (Agenda 06/23/20, Sec 12 A19)

| Teachers | Subject | Per Hour* | # of hours | Total* |
|------------------|-----------|-----------|------------|------------|
| Rescind: | | | | |
| David Fitzgibbon | Math, K-8 | \$45 | 30 | \$1,350.00 |
| | | | | |
| Emily Presuto | ELA, K-8 | \$45 | 30 | \$1,350.00 |
| Approve: | | | | |
| David Fitzgibbon | Math, K-8 | \$45 | 45 | \$2,025.00 |
| | | | | |
| Emily Presuto | ELA, K-8 | \$45 | 45 | \$2,025.00 |

12. Metuchen High School Summer Institute Mental Health Program

Move to approve Samantha Rubin for 8 days of Mental Health Programming at her per diem rate of \$297.51* and counseling services as needed, at an hourly rate of \$49.58*.

13. Appointment – ESY Substitutes

Move to approve the following substitute for the Extended School Year 2020:

| Name | Program | Per Hour* |
|------------|-----------------------------|-----------|
| Tina Huber | Substitute Paraprofessional | \$18.05 |

14. IEP Related Training - Certified Staff

Move to approve the following staff to participate in IEP related training at a rate of \$45/hour* for the 2020-2021 school year:

| Lindsay Omark | Kathy Rice | Stephanie Angus |
|---------------|------------|-----------------|

* Amount may change based upon settlement of contract

15. IEP Related Training - Non-Certified Staff

Move to approve the following paraprofessionals to participate in IEP related training at their hourly rate* for the 2020-2021 school year:

| Name | Per hour* |
|------------------|-----------|
| Kathy Pearsall | \$18.95 |
| Roseann Fisher | \$18.95 |
| William Colavito | \$18.95 |
| Jennifer Lesniak | \$18.95 |
| Rene Flynn | \$18.95 |

16. Appointment - Leave Replacement

Move to approve Ellena Farzaie as a full-year leave replacement substitute for Melissa Harley, EMS ELA Teacher, for the 2020-2021 school year, at a salary of \$50,718*, Step 1A, effective September 1, 2020 (salary may be adjusted upon the settlement of the new contract).

17. Appointment - Leave Replacement

Move to approve Patrick Finn as a leave replacement substitute for Lauren Volosin, MHS English Teacher, at a rate of \$274.15*/day, effective September 1, 2020 through December 1, 2020 (salary may be adjusted upon the settlement of the new contract).

18. RBT Paraprofessional Training

Move to approve the following paraprofessionals at their hourly rates, not to exceed 6 hours each, of supervision by a BCBA for Registered Behavioral Technician (RBT) work during ESY.

| Judi Hoffman | Mike Molfetto | Michelle Schutz |
|--------------|---------------|-----------------|
| Jen Lesniak | Will Colavito | Tara Tay |

19. Appointment - Paraprofessional

Move to appoint Michelle Duggan as a paraprofessional at Metuchen High School, for the 2020-2021 school year, at a salary of \$19,909* effective September 1, 2020 (salary may be adjusted upon the settlement of the new contract).

20. Appointment - Certificated Staff

Move to appoint Meghan Hartigan as MHS PE/Health Teacher, for the 2020-2021 school year, at a salary of \$54,094*, Step 3B, effective September 1, 2020 (salary may be adjusted upon the settlement of the new contract).

| end of Personnel | items |
|------------------|-------|
|------------------|-------|